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1 While exploring in the Math Center, Shelly created the humber 398 using the magnetic
board and magnetic numbers. Select the answer choice that would BEST represent the
number 398.
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2 \Write the value for the 7 in the number 679.

Justify how the answer was determined by placing the digits in the place value chart.

Hundreds Tens Ones

3 Mr. Washington wrote 543 on the
board and asked the students to write
the same number in
another way. Which is NOT another
way to represent 5437

A 5 hundreds, 4 tens, 3 ones
B 500+ 40+ 3

C 4 hundreds, 5 tens, 3 ones

4 Marcus has a baseball card collection.
He has 34 cards. His
father gave him 12 more cards for his
birthday. How many cards are in
Marcus's baseball collection?

A 22 cards
B 46 cards
C 56 cards
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5 As the students entered the room, this model of base-ten blocks was displayed on the
board. Which is a correct way to write the number to represent the model?
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A 467
B 476
C 746

6 During the first week of selling Girl 7 Amanda had a goal to sell 98 boxes

Scout cookies, Amanda sold 23 of Girl Scout cookies during the first 4
boxes. The second week she sold 21 weeks. If she has sold 73 boxes,
boxes. Which humber sentence shows which way shows how many more
how many boxes Amanda sold during boxes she needs to sell in order to
the first two weeks? meet her goal?
A 23+ 21 =44 A The sum of 98 and 73 is 171.
B 32+ 12 =44 B The difference between 98 and 73
C 23-21=2 is 25.

C The sum of 98 and 4 is 102.

Page 5 m}



Page 6

8 Ms. Duncan has 18 students in her

first period art class and 24 students
in her second period art class. What is
the difference in the number of
students in the first class and the
second class?

A 2 students
B 4 students
C 6 students

While traveling on the road, Joshua
counted 21 trucks and 43 cars. How
many automobiles did Joshua count?

A 22 automobiles
B 24 automobiles

C 64 automobiles

10 lJill has 25 jellybeans. Her brother

Todd has 47 jellybeans. How many
more jellybeans does Todd have
than Jill?

A 22 jellybeans
B 62 jellybeans
C 72 jellybeans
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